Single track trigger

* Test by using cosmic ray

« Compare with MC

 Set only 1 bar.

 Coincidence condition = 2 channel

« Gain adjustment is not fully completed.
* Threshold = 100 [ch]



Single track trigger

LR bar trigger rate and height distribution
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Single track trigger
« data(Left), MC(right)
« MC for 1000 second
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Single track trigger h

« TB bar trigger rate

rt




Single track trigger

e data (left) , MC (right)

LR bar h
i h _ h
700} Entries 10000 L Entries 25537
n Mean 11.03 1200— Mean 11.05
B Std Dev 8.85 B Std Dev 6.165
600] B
B 1000—
500} —
- 800
400} | B
B 600—
300} ~
200] ‘ 400—
| |
100f+ l JV’LJHM 200
| il
sl 5 'Ml'mu' "
G_I | ‘ [ ‘ I-”;l',llj]'_t"‘-’m‘hrhnwl- Lach bl ndoal ‘ 1 1 | .| a1 ‘ L1 ‘ L L1 D | I I | | 11 1 1 | 11 1 1 | | I I I | | L1 1 1 I—IH-I_I-..,-I_I-._L,-J-._I_I.-.

10 20 30 40 50 60 70 80 90 100
DepositE[MeV]

=

5 10 15 20 25 30 35 40 45



Trigger time vs height

LR (left) TB (right)
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Single track trigger

 Coincidence window 200ns -> 50ns does not give change of
such low energy peak.

» scintillator induced signal?

« CRY also can generate other particles from cosmic ray but
their deposit energies are smaller than 0.3MeV

-> meaningless



